Inclusion/Exclusion with Two Sets

IVIC./U‘ .51.0M /EXC/M Sroun - /A Ug/: IA/*'/K/"/A/‘K}
Yoo + y:
A = (A\B)U(ANB), B=(B\A)0/AnE) B

| Al= [A\B(+ (A0l (B(=[B\Al+(A18]

| A1+ (B]-TA0E]= IA\B[+ (AnB| + [F\Al +IpB1~ [A«BT = | AVB]
T+ +heve ave Fwo setfs of cliices

/
Fotal # o€ choices = [ #* °7f 250;«5» +( # o7 cholces
1 e /w87 sef (q e Second set
. (:fr ot <bwoices Lvlu'c/q)
Ave (h bo+h cetfc

0. What s |{neltooz:3)n vsyn3)?

A> Divisible by 3: )f3aaeNn as 1909]= | 42 )= 33 numbers.
DEV,’Sfé(Q 6\/ g L%Q"_[=-20 Neq nabepg
DfV(Sf.b‘Q e}' 6o+ S awnwd S ﬂr‘Vr:Sr'{)/e 6) /S Z%J:é hermber s

33+20-6 =@




